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8.1

(ii) (i) 

(iv) (iii) 

 

(iv) (iii) 

(iii) 

C B A DA CD BC AB ABCD

D D 

(vi) (B,D) (A,C) 

ABCD BD AC

Quadrilaterals
8
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8.2

ABCD

AC 

 ABC 

(1) 

 ADC 

(2) 

(2) (1)

3600 

8.3
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DC AB ABCD (i) 

(iv) (iii) (ii) 

(v) 

EFGH (iii) 

(iv) 

900 (v) 

BC  CD AB  AD (vi) ABCD 

ABCD (1) 

ABCD 

1800 

 1200 600 1200 
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ABCD (2) 

ABCD

AD || BC

 1400  

3 4.5 (3) 

3 4.5 

15  4.5  3  4.5  3  

P ABCD (4) 

ABCD

 APB

 1800  900

 900

E AB

CBE

CBE ABC
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8.1 

.1   

(ii) (i)

(iv) (iii)

(vi) (v)

.2

.a

.b

.c

.d

.e

.f

.g

.h

.i

.j

C  D A  B AB = BC AB || CD ABCD .3

1:2:3:4 

ACD AC ABCD
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8.4

8.1 

ABCD 

AC C A

AC AB || DC

DCA = CAB

AC DA || CB

DAC = BCA

CAB ACD

DAC = BCA DCA = CAB

AC = CA

ABC ~= CDA 

AC A.S.A 
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8.2 

ACD ~= CAB 

CBA = ADC AB = DC 

DAC = ACB AD = BC 

CAB = DCA

ACB + DCA = DAC + CAB

DCB = DAB

PAB = DCB

(i)

(ii)

8.3 

BC = AD AB = DC ABCD 

AC 

CDA ABC

AC = CA AB = DC BC = AD 

ABC ~= CDA 

AC BCA = DAC

(1) AB || DC

CA ACD = CAB 

(2) BC || AD 

(2) (1) ABCD 
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8.4 

ABCD B = D A = C ABCD 

A + B + C + D = 3600 

 A + B = C + D = 

A + B = 1800

E DC

BCE = ADC C + BCE = 1800

AD || BC BCE = D 

DC

ABCD AB || DC 

8.2 

ABEF ABCD .1

AFD ~= BEC 

4 .2

D C ABCD .3

COD =  ( A+ B) 'O' 

8.5

8.5 

ABCD 

'O' BD AC 

OCD OAB

4 3 2 1

AC AB || CD 1 = 3

2 = 4
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AB = CD 

OCD ~= OAB A.S.A 

DO = OB CO = OA

8.6 

ABCD

'O' BD AC

OB = OD OA = OC

ABCD 

ABCD COD AOB

8.5.1

(Corollary)

(1) 

A = 900 ABCD

B = C = D = 900 

ABCD 

AB AD || BC 

A + B = 1800 

 = 900 

 

D = B C = A

D = 900 C = 900
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(2) 

'O' BD AC ABCD

BD AC 

BOC AOB

OA = OC

BOC AOB OB = OB

AB = BC

AOB ~= BOC 

AOB = BOC 

AOB + BOC = 1800

2 AOB = 1800

BOC = COD = AOD = 900

BD AC 

ABCD A AC ABCD (3) 

ABCD

C A AC AB || DC 

(1) BAC = DCA

(2) BCA = DAC

A AC

BOC = DAC

(3) DCA = DAC

C AC 

(2) (1)
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BAC = BCA

BC = AB BCA = BCA ABC

ABCD BC = AD AB = DC 

AB = BC = CD = DA

ABCD 

(4) 

BD AC ABCD

AC = BD 

ABCD ABCD

BAD ABC

AB = BA

B = A = 900

BC = AD

ABC ~= BAD 

AC = BD 

(5) 

C B A ABCD

S R Q P D

AD || BC ABCD

PAB + ABC = 1800 AB 

A  ABP = 12 ABC BAP = 12 BAD

B

  12 BAD + 12 ABC =  12
(1) BAP + ABP = 900
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APB 

BAP + APB + ABP = 1800

APB = 1800  ( BAP + ABP)

(1) APB =   900

= 900                

SPQ = APB = 900

CRD = QRS = 900

DSA = PSR BQC = PQR

PQR = QRS = PSR = SPQ = 900

900  PQRS 

PQRS 

.1

.2

R P  'l' (5) 

R P l

APR PRP CRP RPB

(1) 

(2) 

(2) (1)
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(3) PQRS 

PQR 

(4) 

(4) (3)

PQRS

PQRS 

AD = ED E BC AD ABC (6) 

ABEC 

ABC AD

AD = ED E AD

CE BE

ECD ABD 

BC 'D' BD = DC

ADB = EDC

AD = ED

ABD ~= ECD

(CPCT) AB = CE 

ABD = ECD
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ABEC 

AB = CE AB || CE

ABEC 

8.3 
(x 48)0 (3x 2)0 .1

.2
240

ABCD .3

BC 'E' 

'F' AB DE 

AF = 2AB 

Q P ABCD .4

PBCQ DC AB 

AB = AC ABC .5

CD || BA QAC AD

DAC = BCA (i)

ABCD (ii)

C A CQ AP ABCD .6

BD 

APB ~= CQP (i)

AP = CQ (ii)

SCERT T
ELA

NGANA



188

F E D C B A BC || EF BC = EF AB = DE DEF ABC .7

ABED (i)

BCFE (ii)

ABC ~= DEF (iv) AC = DF (iii)

'O' BD AC ABCD .8

BD Q P

AC CQ || AP

PQ 

AE=BF=CG=DH DA CD BC AB H G F E ABCD .9

EFGH

8.6

E AC AB ABC 

F E F 

ABC AEF BC EF

EF = 2
1 BC AEF = ABC 

BC EF AB 

EF || BC 

8.7 

AC AB F E ABC
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EF = 2
1 BC (ii) EF || BC (i)

BA 'C' EF

'D' EF 

CDF AEF 

AC 'F' AF = CF

AFE = CFD

CD || BA ED AEF = CDF 

 AEF = CDF

(CPCT) EF = DF AE = CD 

AE = BE 

BE = CD 

BCDE BE = CD BE || CD 

ED || BC 

EF || BC 

  ED = BC BCDE 

FD = EF

 2EF = BC

EF = 2
1 BC 

8.8 

'E' AB ABC

CD BA F AC l BC 'E' 

AF = CF CD || BA 
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CFD AEF

AC BA || CD EAF = DCF

ED BA || CD AEF = D

EB || DC 

ED || BC 

BE = DC EDCB 

AE = DC BE = AE 

AEF ~= CFD

 AF = CF

CA BC AB F E D ABC (7)

DEF ABC 

 E D ABC

DE || AC

EF || AB DF || BC 

CFDE BEFD ADEF 

DF ADEF 

ADF ~= DEF

BDE ~= DEF

CEF ~= DEF

ABC 

SCERT T
ELA

NGANA



191 2020-21

p n m l (8)

F E D C B A q 

BC AB p 

EF DE q 

EF DE BC AB 

m F A 

'G' 

AB = BC ACF

AC 'B' 

BG || CF 

AF 'G' 

DF 'E' GE || AD AF 'G' AFD 

DE = EF 

q n m l 

BE || DF ABC BE AD (9)

CF =4
1 AC 

F BE || DF BC 'D' ABC

CE

 CF = 2
1 CE

= 2
1 [2

1 AC]

CF = 4
1 AC 

Q P AB CA BC C B A ABC (10) 

ABC PQR R 
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ABCQ BC || RQ AB || QP

ABPC BCAR 

BC = RA  BC = AQ

QR 'A' 

PQ PR C B 

PQR = PQ + QR + PR 
= 2AB + 2BC + 2CA

= 2(AB + BC +CA)
= 2 ABC

8.4 

AC AD = 4
1 AB D AB 'D' ABC .1

BC DE = 2cm AE = 4
1 AC 'E' 

DA CD BC AB H G F E ABCD .2

EFGH 

.3

DC AB F E ABCD .4

BD EC AF 

2:1 1:2 

.5

BC M AB C ABC .6

D AC 

MD  AC (ii) AC 'D' (i)

CM = MA = 2
1 AB (iii)
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.1

3600 .2

.3

.4

(a)

(b)

(c)

(d)

(e)

(f)

.5

(a)

(b)

Puzzle .1

10

2 9 16 .2SCERT T
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